Lesson Plan – Day 5
Lecture
· Define vertical angles & linear pairs
[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-26 at 1.44.05 PM.png]


· Define complimentary angles & supplementary angles
[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-26 at 1.44.58 PM.png]


· Review Examples Problems 2, 3, and 6





[bookmark: _GoBack]Assignment # 5 (Angle Pair Relationships)
Answer the following questions, using the figure drawn below:
[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-26 at 11.17.55 PM.png]

State whether the two angles shown on the clocks below are complimentary, supplementary or neither:
[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-26 at 11.24.07 PM.png]

[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-26 at 11.26.41 PM.png]
 Find the missing angle measurements, using the figure drawn below:


[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-26 at 11.20.14 PM.png]


15.  Fold a small piece of paper in half three times and label it as shown below:
[image: Macintosh HD:Users:gator-staff:Desktop:Screen Shot 2013-08-22 at 9.57.35 PM.png]









Use Algebra to find the values of the variables below:
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a. Name eight congruent acute angles.
b. Name eight right angles.

c. Name eight congruent obtuse angles.

d. Name two adjacent angles that combine to form a straight angle.
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£1and £3are vertical angles. £5and £5 are a linear pair.
Z2and £4 are vertical angles.




image2.png
LV

complementary complementary supplomentary supplementary
adjacent nonadjacent adjacent ‘nonadjacent




image3.png
8. Are £5 and £6 a linear pair?
9. Are £5 and £9 a linear pair?
10. Are 25 and 28 a linear pair?
1. Are 25 and 28 vertical angles?
12. Are 25 and 27 vertical angles?
13. Are 29 and £6 vertical angles?
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